
 
   

 

Bündner Mittelschulen  
Einheitsprüfung 2023  

 Arithmetik und Algebra 
 

 
Lösungen 

 
 

 

1. a)  
1

10
        b)  

13

10
      c) 23

  
 

2. a) 
3

2
 

    b) 𝑎 ∶   𝑏 ∶   𝑐 −   𝑑 +  𝑒 +  𝑓 −  𝑔 

3. 
 
 
 
 

 

8 √66 9 

13 √195 14 

25 √638 26 

99 √9948 100 

4. a) −33   b) 7 
 

5.  −13   6.  20′000𝐶𝐻𝐹 

7.  Term Nr.5 für Gruppe 1 und Term Nr.3 für Gruppe 2 8. a)  129; −112; 17;  −95; −78 
    b)  12𝑎 − 5𝑏; −7𝑎 + 3𝑏; 5𝑎 − 2𝑏; −2𝑎 + 𝑏; 3𝑎 − 𝑏 

9. a) 131     b)  −40 10. a) 4     b) 10      c) 
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11. a) 
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=

3

17
     b) 

4

51
    c)  0    d)  

7

51
    e)  

42

51
=

14

17
 

      
 

12.  

 
15′000 𝑘𝑔 + 750 𝑔 
 

= 15.00075 𝑡 

 
5 𝑘𝑚 15 𝑑𝑚 357 𝑚𝑚 
 

= 5001.857 𝑚 

 
  1.5 ℎ𝑎 
 

= 15′000 𝑚2 

 
5 𝑙 30 𝑚𝑙 

 
= 5030 𝑐𝑚3 

 
38′754 𝑠 

 
= 10  ℎ  45  𝑚𝑖𝑛 54 𝑠 

 

 


